Economics 104B - Lecture Notes - Professor Fazzari

Topic V:  Demand-Side Macroeconomic Theory:  Keynesian Economics
(Final Version, March 24, 2013)

· Introductory comments for topic V:

· Over the past several weeks in the class, we have looked at the components of the economy that cause them to change.  We saw how households and firms make consumption and investment decisions based on a variety of factors such as the interest rate and income.  We explored the determination of international trade and talked briefly about how government activity influences the economy. There is now a shift in the class.  We will now look in some detail and systematically at how various changes in the economy affect business cycles, inflation, and growth.  (Remember the main macro issues discussed in the very beginning of the class.) 

· To meet this goal, we will use models.  These are abstractions that hopefully capture the major features that are most important in driving macroeconomic activity.  These models will be built upon the components we have studied in recent weeks.   

· The first model we discuss explains how the demand side operates, that is, the model describes “Keynesian” macroeconomics.  On that note, here we go….

A.  Equilibrium of Output and Aggregate Demand

1. The “Keynesian Cross” (income-expenditure diagram)
a)  Firms produce what they expect to sell
· Firms produce what they expect to sell.  As we discussed while summarizing demand-side theory, production is motivated by sales expectations.  This observation leads to the behavioral assumption that firms produce what they expect to sell.  
· Therefore, if we graph Expected Sales versus Production (Y), we will get the aggregate supply curve (AS), a line with a slope of +1.  (“Supply” is another piece of jargon economists use for the concept of production.) A slope of +1 means that for every point on the AS curve, production equals expected sales.  A slope of +1 is equivalent to saying the AS line makes a 45 degree angle with either axis.

(1) The 45 degree line as the aggregate supply curve.  
Here is the picture:
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b) The aggregate demand curve: positive slope and the MPC
· We will derive the aggregate demand curve from the consumption function.

· The consumption function shows one component of AD (C) as a function of income.  (Remember income and output are conceptually the same thing at the macro level.) 

· To get to the AD curve from the Consumption Function, simply add the other components of AD.  This will result in a shift upwards.  Note that theoretically the AD curve could be below the consumption function if Imports was large enough, but in reality this would not happen.  The slope of the AD curve is the same as the slope of the Consumption Function because we are assuming that I, G, Ex, and Im do NOT vary with income—they are purely exogenous variables (at this point).  Therefore, the slope of the AD curve is still the MPC.  (Later on, we will make the model more complicated, however.)
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c)  Determination of macroeconomic equilibrium

· When we derived the AS and AD curves separately, the x-axes were labeled Production and Income, respectively.  When we combine the graphs, we just label it Y, which we can do because income = production.  Similarly, the y-axes were labeled AD and expected sales.  When we put the graphs together, we just label the y-axis “AD,” which could stand for either expected or actual AD. Also, because the slope of the AD curve = MPC, which must be less than 1, the AS and AD curves will intersect.

· Here is the picture:
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· The concept of equilibrium is used in the analysis of most economic models.  In the Keynesian cross model, equilibrium occurs when AS equals AD, point A in the above graph.  Equilibrium is a "state of rest" where there is no endogenous process that changes things.  However, the economy need not always be in equilibrium because things change (via exogenous shocks).

· Equilibrium is a point when expectations are realized.  Firms expect to sell Y0, they produce Y0, and actually they sell Y0.  

(1) Sales expectations decrease if output above equilibrium → lower production

· If the equilibrium is to be a meaningful state for the real-world economy, it is necessary that there be some endogenous forces in the system that push the economy toward the equilibrium.  Then, we can view the equilibrium as a kind of "center of gravity" that attracts the actual economy to it.

· Suppose we start off out of equilibrium, meaning a level of production where AS does not equal AD.

· Think about a level of output produced above the equilibrium.  Call this level YH (the H stands for high) where YH > Eq. Y0.

· At YH, AS is greater than AD.  (Show this for yourself on the graph above.)  Therefore, production is greater than sales.  The amount of this difference equals the vertical distance between the AS and AD curves at YH.  

· When firms are not selling what they produce, they will lower production. This results in lower output and a movement down the AS curve.  As we know, lowering production will lower income.  This leads to a movement down the AD curve.  Therefore, both production and sales drops until we reach equilibrium, point A.  Note that while both  production and sales drop, sales will drop by a lesser amount because the slope of the AD curve is less than the slope of the AS curve.

(2) Sales expectations increase if output below equilibrium → higher production

· Symmetrically, if we start from a level of output below the equilibrium, AD exceeds AS (show this yourself on the graph).  Firm sell more than they produce.  They will raise sales expectations and therefore increase production.  Output rises and income rises until the economy converges again to equilibrium.
(3) Equilibrium where demand expectations are realized

· This “dynamic process” (dynamic means that it happens through time) pushes the economy to equilibrium.  If we assume that the convergence to equilibrium takes place rather quickly, the equilibrium point is a good prediction for where the economy actually operates.

· By analyzing how the equilibrium points change, we can predict the effect of various kinds of shocks on the model.  This is an abstraction again.  The economy is not always exactly at equilibrium, but the change in equilibrium provides a good approximation to what actually happens in the economy.  In most of what follows, we will not discuss the adjustment to equilibrium in detail.  We will just assume the economy always operates at equilibrium

d)  Shifts of aggregate demand and changes in equilibrium output

(1)  Changes in the consumption function

· A consumption shock will cause a shift in the aggregate demand curve such as the one illustrated in the graph below.  The US economy was experiencing a recession leading to the events of September 11.  After the attacks there were concerns that the economy would weaken further.  Instead, consumption actually increased causing a boost to the aggregate demand as pictured below.  Marketing efforts by General Motors and other automakers and a sense of coming together as a country may have contributed to a rise in autonomous consumption.
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· The fall in consumption after the popping of the housing bubble in 2007 likely led to a large negative consumption shock that would push down the AD curve and cause a reduction in equilibrium output that became the Great Recession.
 (2)  Changes in investment

· When the high-tech boom of the late 1990s came to an end, there was a dramatic drop in business investment spending.  Let’s consider the effect of the decline in investment spending that took place between 2000 and 2001.

· Lower investment reduces aggregate demand for any income level.  Thus, the AD curve shifts downward.

· The equilibrium point moves from A to B.  Equilibrium output falls from Y0 to Y1:
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 (3) Economic fluctuations due to changes in aggregate expenditure
· This model gives “Keynesian” macroeconomic predictions.  That is, in this model, shifts in AD (or, in more modern language “aggregate demand shocks”) drive macroeconomic fluctuations.  Short-term growth and recessions are the result of shifts in the AD curve.

· This is clearly a “demand-side” model.

e)  Endogenous vs. exogenous variables in economic models
· An endogenous variable is one that is explained by the model.  

· An exogenous variable is one that is determined outside the model by external forces.  Being exogenous does not mean that the variable is constant, but that it is determined outside of the model.

· In the Keynesian Cross model, Y and C are endogenous.  Y is clearly endogenous because it is determined by equilibrium levels of AD and AS.  While it is more subtle, it is also true that C is endogenous because C is a function of Y.  If Y is determined by the model, then C must be too.  Sales is also endogenous.

· In simplest version of the KC model, all other variables are exogenous (taxes [T], interest rate [r], G, I , Ex, Im, the MPC, the autonomous component of consumption [a], etc.).  
More humor from former TA and the original note-taker Jamie Kucher, suggesting a sad commentary on the typical economist:

A boy was crossing a road one day when a frog called out to him and said, "If you kiss me, I'll turn into a beautiful princess." He bent over, picked up the frog and put it in his pocket. The frog spoke up again and said, "If you kiss me and turn me back into a beautiful princess, I will stay with you for one week." The boy took the frog out of his pocket, smiled at it, and returned it to his pocket. The frog then cried out, "If you kiss me and turn me back into a princess, I'll stay with you and do ANYTHING you want." Again the boy took the frog out, smiled at it and put it back into his pocket. Finally, the frog asked, "What is the matter? I've told you I'm a beautiful princess, that I'll stay with you for a week and do anything you want. Why won't you kiss me?" The boy said, "Look, I'm an economist. I don't have time for a girlfriend, but a talking frog is cool."

2.  Equilibrium output and potential output

a)  Definition of potential output

· Thus far we have learned that the equilibrium level of output depends on shifts in the AD curve.  As we have drawn it, the AS curve will go up at a 45° angle indefinitely.  However, in reality there is a production capacity limit.

· Suppose, for example, that all of a sudden there was an AD shock and AD doubled.  Firms would not be able to supply that much immediately.  Therefore, there is a limit as to how much production can be supplied.  This limit comes from the supply side of the economy, that is, potential output.

· As discussed earlier in the course, potential output (represented with the symbol Y*) is what the economy can produce when all labor and capital resources are fully utilized with the prevailing technology.

· All labor resources fully utilized means the economy operates at full employment.  But, as discussed earlier in the course, the unemployment rate will not be zero.

· Full utilization of capital resources implies high capacity utilization, but for technical reasons the actual measure of capacity utilization will not get to 100 percent.

· Y* could (and does) increase.  This is where the phrase “with prevailing technology” comes in.  When technology advances, Y* will be greater, meaning it is possible for the economy to produce more.

· In the short term, it is probably possible for the economy to produce beyond Y*.  During World War II, the United States produced more output than what was sustainable in the long term.  More people were in the labor force than would have normally wanted to work.  In our analysis, we will assume Y* is in fact the maximum level of output.  Again, this assumption is an abstraction.  Even though the economy might produce a bit above Y* sometimes, this situation is unusual and not a major concern.

· Again, as discussed earlier in the course, potential output is a target for good economic performance.  If we accept the typical “more is better” assumption, we want the economy to produce as much as possible.  This target is reached if output equals Y*.

· Most economists think that the U.S. was at Y* in the late 1990s and the first half of 2000.  This is primarily because of the very low unemployment level by historical standards.  Prior to the Great Recession in 2006 and 2007 most economists thought that the economy was operating at, or at least close to, Y*.  A large majority of economists would argue that the economy has produced well below Y* from the onset of the Great Recession until (at least) early 2013.

b)  Potential output as a limit to expansion induced by higher expenditure
· The concept of potential output can be incorporated into the Keynesian Cross graph by limiting AS once it reaches Y*:
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· Equilibrium output cannot exceed Y* in this diagram, although equilibrium can be at a lower level of output than Y* if AD is below AD*

· AD higher than AD* will leave some desired sales unfulfilled (demand exceeds supply).  This situation is likely to be inflationary.

c)  No necessary reason for aggregate expenditure to be sufficient to purchase potential output: a fundamental macroeconomic problem

· As mentioned above, Y* is the target level of output.  Thus, we want an equilibrium like point A in the graph above.

· There is no guarantee, however, that AD will be consistent with the level AD* needed to give equilibrium at point A with output Y*.  If AD is not high enough, equilibrium may be at a point like B with output below Y*.  In this case, resources are wasted and social welfare is reduced, as discussed earlier in the course when we talked about unemployment.

· This is the key dilemma noted by Keynes as he wrote his seminal book in the midst of the Great Depression.  Keynes believed that the Depression was caused by low aggregate demand.  In his theory, AD might be high enough to push equilibrium output to Y*, but this would happen only in a special case.  The more “general” case, he predicted, would be equilibrium output below Y*.  This is the reason he entitled his book the General Theory of Employment, Interest, and Money.

3.  The Multiplier

a)  Graphical demonstration of the multiplier effect
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· In the graph above, the vertical double-headed arrow represents the size of the initial positive demand shock.  The vertical distance of the shift upward indicates the amount demand initially rises holding income constant.

· But output and income rise much more than the size of the initial demand shock.  The change in output is indicated by Y1 – Y0, also show by the horizontal double-headed arrow in the graph above.

· The fact that Y rises more than the size of the initial demand shock represents the multiplier.  That is, the quantitative effect of a demand shock on equilibrium output is larger than the size of the shock. 
· The existence of a multiplier explains why the effects of an AD shock are larger than the size of the original AD shock.  For example, a $10 billion positive investment shock will have more than a $10 billion effect on equilibrium output.  
b)  Intuition behind the multiplier
· Let’s consider the intuition behind the multiplier.  Suppose that there is a positive AD shock.  This causes sales, expected sales, and output to rise.  Higher output raises employment and income.  Higher income causes higher consumption, which raises AD even more and the cycle continues again.  Thus, the effect on output is larger than the size of the original demand shock.  One could say that the multiplier process “magnifies” the effect of any initial demand shock.
· Note that the multiplier works in both directions.  If the initial shock is negative, it will also be magnified.
c)  Algebraic analysis of the multiplier phenomenon

· Now we will use a simple algebraic version of the Keynesian Cross model to demonstrate the multiplier model with equations.  

· Begin with the consumption function:

· C = a + (MPC)(Y-T)

· Think of “T” as the total income people pay in taxes.

· After-tax or “disposable” income equals Y-T
· The definition of aggregate demand is:  AD = C + I + G + Ex –Im

· In equilibrium, output equals aggregate demand, so Y = AD 

· Hence, Y = C + I + G + Ex – Im  or substituting the consumption function for C gives Y = [a + (MPC)(Y-T)] + I + G + Ex –Im  

· Now, solve this equation for Y, the equilibrium level of output by collecting the terms that depend on Y on the left side o the equation:

· Y – (MPC)Y  =  a –(MPC)T + I + G +Ex – Im

· Y (1 – MPC)  =  a –(MPC)T + I + G +Ex – Im

· Y  = [ 1 / (1 - MPC) ] [a –(MPC)T + I + G + Ex – Im]

· The expression 1/(1 – MPC) is called The Multiplier.  The multiplier is a measure of by how much an initial AD shock is magnified to get the total effect of the shock on equilibrium output.  

· Since the MPC is always between 0 and 1, the multiplier is always greater than or equal to 1.  Conceptually, this means that the value of the initial shock is multiplied by a number greater than one to get the total effect of the shock (ie: total effect > initial shock).  If, however, the MPC equals 0 (or the tax rate is 100%), then we get a multiplier of 1.  

· You can show from the graph, that if the MPC is zero, the AD curve is horizontal.  When AD shifts up in this special case equilibrium output rises just as much as the size of the initial shock, and no more.  Thus, the graph gives the same answer as the algebra.

· Intuitively, if the MPC is zero we would not expect any “magnification effect” because there is no feedback through income creation and consumption after the economy adjusts to the initial demand shock.

· Notice that the multiplier is larger as MPC increases, this is because the bigger is MPC the greater the initial shock in demand will be magnified as higher incomes induce even more consumption.

· Example:  Suppose that investment rises from I0 to I1.  

· Initial equilibrium output, Y0 is:

Y0 = [ 1/(1 – MPC) ] * (a –(MPC)T + I0 + G + Ex – Im)

· Final equilibrium output, Y1 is:

Y1 = [ 1/(1 – MPC) ] * (a –(MPC)T + I1 + G + Ex – Im)

· Subtract the Y0 equation from Y1 equation to obtain:

· ΔY = Y1 – Y0 = [ 1/(1 – MPC) ] * (I1 – I0) = [1/(1 - MPC)] ΔI

· As we can see, as long as 0 < MPC  <1, the multiplier will be greater than 1.  Multiply the multiplier by the size of the initial shock, ΔI, and you will get the size of the total effect of the AD shock on equilibrium output, ΔY
d) The investment accelerator
** Note that we did not cover the investment accelerator in class (spring, 2013).  Nonetheless, this is a useful example and you should study it carefully.  The material below may be covered in a homework or exam question **

· In our discussion of investment earlier in the course we emphasized the volatility of investment.  In particular, we discussed how investment is highly procyclical, rising when output is high and falling when output is low.

· Therefore, the assumption in the basic Keynesian Cross model that investment is exogenous is not very realistic.  We can improve the model by incorporating an investment equation that allows investment to vary with output.

· Economists call the positive link between investment and output “the accelerator”  The accelerator measures the additional I generated from an increase in Y.  

(1) An equation capturing investment volatility

· The basic investment accelerator equation (which looks very similar to the consumption function) is

I = b + (ACC)*Y

b is determined exogenously, and is similar to a in the consumption function.  The accelerator, ACC, is always between 0 and 1 (like the MPC) but it typically is low (possibly about 0.1) because I is a relatively small percentage of Y.

· With a positive ACC in this model, I will rise when Y rises and I will decline when Y falls, just as our theory predicts and the data demonstrate.

(2) Effect on the multiplier

· Using the following equations, we will calculate equilibrium Y

C = a + (MPC) (Y – T)
I = b + (ACC)Y

AD = C + I + G + Ex – Im

Y = AD (which is true in equilibrium: Y = AS = AD)

Y = [a + (MPC) (Y – T)] + [b + (ACC)Y] + G + Ex –Im

Y – (MPC)Y – (ACC)Y = a –(MPC)T + b + G + Ex – Im

Y [1 – MPC – ACC]  =  a –(MPC)T + b + G + Ex – Im

Equilibrium Y  =  [ 1 / ( 1 – MPC – ACC )] [a –(MPC)T + b + G + Ex – Im]

· This is the equation for equilibrium output, taking into consideration the endogenous effects a change in Y has on consumption and investment.  As we can see algebraically, an increase in the ACC will increase the value of the multiplier.  This should make sense conceptually also.  If we have any AD shock (change in the stock market, change in government spending, etc), we will see an increase in I.  This is another way of saying that I is procyclical: any increase in Y will have an increase in I.  In addition, in this model I rises just like C when income goes up, which makes the multiplier effect larger.

· Effect of the accelerator on the KC model graph:
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· The accelerator effect raises the slope of the AD curve.  When ACC > 0, an increase of Y not only raises consumption, but it also raises investment.

· As we have seen before, if the AD curve is steeper, the multiplier is larger.  Thus, the graph above is consistent with our algebraic analysis of the accelerator.

B.  Fiscal Policy in the Keynesian Framework

1.  Government spending stabilizers for demand-induced fluctuations 

a) Spending increases to offset recession

· In the Keynesian framework, higher government spending will stimulate the economy.  In this sense, a short term increase in deficit spending may be beneficial as it could lead the economy out of the recession.

b) The multiplier and “pump priming”

· When you increase G, this results in a shift upward of the AD curve.  Therefore, equilibrium Y goes up.

· Effect of the Multiplier

· ΔY = [1 / (1-MPC)] * ΔG  

· Therefore, the effect on Y is larger than the change in G.  Therefore,
if ΔG > 0 then ΔY > 0 and ΔY > ΔG

· If you do not see this relationship between ΔY and ΔG right away, write out the equations for equilibrium Y given G0 and G1.  Then subtract Y0 from Y1 to get ΔY. (We did the same thing for ΔI earlier in these notes).

· If the model had an accelerator effect in it, the multiplier would be even larger.

· The “pump priming” metaphor comes from what it takes to get a pump going.  When the pump is dry, you have to put a little water into it to “prime” it.  When this water is pumped through, it creates a vacuum that sucks water out of the well.  Then you can pump lots of water.  The increase in G is like “priming the pump” of AD creation and the multiplier

c)  Historical examples

· In response to the Great Depression, there was a lot of government spending on public works projects to boost the economy.  Programs included the WPA (Works Progress Administration) that employed 3,400,000 people at its peak in 1936 to build roads, bridges, public buildings, parks, etc.  The Tennessee Valley Authority built dams for flood control and hydroelectric power.  The Civilian Conservation Corps (CCC) created jobs devoted to conservation projects, including development of the national parks.  These activities may have been justified by the specific outcomes they created (roads, parks, etc.)  But these “New Deal” projects also were justified a macroeconomic objective to stimulate the broad economy.  Thus, this set of policies is consistent with Keynesian fiscal policy.
· During World War II (as you may have noticed, WWII is a common historical example), the change in output was huge.  There is little doubt that the dramatic rise in output was due in large part to the massive increase in government spending associated with the war effort.   

· When Clinton was first elected in 1992, the economy was doing poorly (end of the recession).  He proposed a $30 billion stimulus package to boost the economy.  This package included transportation and research programs that may have been justified on their own merits.  But it was clear that part of the objective was broad macroeconomic stimulus.  The package was not passed by Congress, but the logic of this policy was related to principles of Keynesian fiscal policy.
· The wars in Iraq and Afghanistan during the George W. Bush administration were certainly not “designed” to stimulate the economy.  But higher spending of $100 to $150 billion per year for these wars undoubtedly raised AD.  Some of this spending was used for services purchased abroad, which could be viewed as imports that don’t raise U.S. AD.  In a nearly $14 trillion economy (at the time), this additional amount of AD is not huge (it’s about a one percent shock).  Nonetheless, especially with some multiplier effect, the additional war spending could have a non-trivial effect on year-to-year economic growth.

· During the Great Recession, various fiscal “stimulus” policies were implemented in a variety of countries.  The effect of these policies on output and employment have been widely debated among economists and politicians.  The Keynesian perspective presented here supports the idea that higher government spending stimulates the economy, and that the total effect on output exceeds the value of the rise in spending due to the multiplier.

· The economists in the Obama administration in early 2009 estimated that the multiplier was about 1.5.  They used this figure to forecast the effect of the “American Recovery and Reinvestment Act”  (ARRA), that was signed into law soon after President Obama took office.  

· The expectation was that the ARRA stimulus would create or save several million jobs and reduce the increase in the unemployment rate.

· As it turned out, the unemployment rate and associated job losses in 2009 and 2010 were substantially worse than the administration forecast.  This outcome led many critics of the Obama economic policies to label the ARRA stimulus a failure.  

· The counter argument is that the employment crisis would have been even worse without the stimulus.  More people would have been laid off and the decline in jobs would have been even more severe.  It is the case that the early 2009 forecasts of Obama economists were too optimistic.  But nearly all economists were making similar forecasts at the time that underestimated the seriousness of the Great Recession.

a. It is the case that people were employed in new jobs financed by ARRA funding.  Also, a big part of ARRA was grants to states to help them offset the decline in their taxes.  The states laid off a large number of public employees due to their fiscal crisis.  It seems likely these layoffs would have been even larger if not for the ARRA money coming from the federal government.

· Other countries also used fiscal stimulus.  In particular, China implemented a massive program.  Comparisons are tricky, but relative to the size of the economy, China’s stimulus looks to be four to five times as large as the U.S. ARRA plan.  After declining sharply early in the Great Recession, China’s economy bounced back quickly.
2.  Tax policy: Consumption and taxes
a) Including taxes in the basic Keynesian algebraic model
· Let consumption depend on disposable income, denoted by Y-T, where T stands for exogenous taxes:

· C = a + (MPC)*(Y - T)

· Assuming I is exogenous (no accelerator for the moment), we can solve for equilibrium output as follows:

Y = AD = C + I + G + Ex – Im

Y = [a + (MPC)*(Y-T)] + I + G + Ex – Im

Y (1 – MPC) = a – MPC(T) + I + G + Ex – Im

Y  =  [ 1 / (1-MPC) ] [a – MPC (T) + I + G + Ex – Im]

· From this formula we can write expressions for the change in Y caused by either a change in government spending or a change in taxes:

ΔY = [ 1 / (1-MPC) ] * ΔG

ΔY = [ 1 / (1-MPC) ] * (MPC)*(-ΔT)

· The formula for the change in taxes has a similar form to the one that predicts the effect of a change in government spending, but there are some important differences.

· First, there is a negative sign on the change in tax term.  This negative sign gets the direction of change right.  If taxes fall (a negative ΔT) then output rises (a positive ΔY).  That is, ΔT and ΔY move in the opposite direction. (Notice that no negative sign is needed in the equation predicting the effect of ΔG on ΔY because these two variables move in the same direction.)
· Why do we have the “extra” MPC term in the ΔY equation when the fiscal stimulus under consideration takes the form of a tax cut?  This is because if we cut taxes, the entire tax cut will not show up in the initial AD shock.  Suppose the MPC is 0.9 and we have a shock of a $1,000 tax cut, then the initial shock to consumption is only $900.  It is this number, not $1,000 that then gets magnified by the multiplier.  
b) Comparison of tax cuts and spending increases
· So, what will have a larger effect on Y:  a $1,000 increase in G or a $1,000 tax cut?  The answer is a $1,000 increase in G, because the initial AD shock in this case will be $1,000.  The initial AD shock in the case of the $1,000 tax cut will be $1,000 * MPC.

c) Income distribution, taxes, and consumption

d) Anticipation of future taxes
3. Can government deficits be good?

· Government Deficit = G – T.  (If taxes > government spending, then the government deficit is negative, meaning there is a government surplus.)

a)  Conventional view on dangers of government deficits
· Fiscal policy in a recession can be implemented either by increasing G or lowering T.  However, either one (or especially if both policies are pursued) will increase the deficit (or lower the surplus).  This is a criticism of Keynesian policy—it creates deficits.

· Government debt is usually considered a bad thing.  The national debt is bad because the U.S. has to pay interest on the debt.  The interest payments are transfer payments that go to U.S. bondholders.  These people tend to be richer citizens.  Therefore, a criticism of the national debt is that the government payments are going to the rich in the form of interest payments where it could be going towards a variety of other activities to benefit other classes (such as a tax cut, spending on education, social security, etc) if the government did not have to pay this interest every year.  

· In addition, there is a concern that because the interest and principal payments on the debt must be made in the future, the deficit places a burden on future generations of taxpayers.

· The significant increase in the government deficit during the Bush administration was strongly criticized for these reasons.  The potential problems with the deficit were a key issue in the 2004 presidential election.  Although the deficit declined in Bush’s second term.

· After the Great Recession, the U.S. deficit expanded again to levels not seen since World War 2. These deficits have become a serious political issue.  
b)  The Keynesian critique: deficits to stimulate a weak economy

· If the economy is operating below full employment, then fiscal stimulus can be good.  Fiscal stimulus, whether it comes from higher G or lower T almost certainly will raise the deficit.

· If the government generates output, employment, and income, then they may make more tax revenues in the future.

· Therefore, while the Keynesians do not think that a government deficit is good in and of itself, they do believe that if the economy is weak, the benefits of the deficit can outweigh the disadvantages.

· This perspective suggests that the Bush tax cuts could have been helpful for the U.S. economy in the early part of the 2000s.  The recession of 2001 and slow, “jobless” recovery from it led to high unemployment.  To the extent that the tax cuts stimulated demand, they would have helped to solve the unemployment problem. 

· One can certainly criticize the detailed structure of the Bush tax cuts from a Keynesian perspective, however.  If more of the tax cuts went to lower and middle income people, they might have raised AD even more and provided more economic stimulus.  
· To make this point more formally, suppose the consumption function is as follows:  C = a + MPCR (YR – TR) + MPCO (YO – TO).

· In this model, the “R” superscripts denote the MPC, income, and taxes for “rich” people and the “O” superscripts refer to everyone else.  The standard assumption is that MPCR < MPCO, that is, the rich spend a smaller portion of their disposable income.

· You can derive the equilibrium for the model with this consumption function as follows:

Y = C + I + G + Ex – Im

Y = [a + MPCR (YR – TR) + MPCO (YO – TO)] + I + G + Ex – Im

Y – MPCR (YR) – MPCO(YO) = a – MPCR (TR) – MPCO (TO) + I + G
                                                               + Ex – Im

Y (1 – MPCAVG) = a – MPCR (TR) – MPCO (TO) + I + G + Ex – Im

where MPCAVG = MPCR (YR/Y) + MPCO(YO/Y), the “weighted average” marginal propensity consume for the entire economy.  The “weights” are the shares of income earned by the rich group and the other group.

· So, the effect of a tax cut on output is:

ΔY = [ 1 / (1-MPCAVG) ] [(MPCR)*(-ΔTR) + (MPCO)*(-ΔTO)]

· If MPCR < MPCO then a dollar of tax cut to the rich group will have a smaller effect on output than a dollar of tax cut to the other group.

· This result also helps explain why many economists believe that tax cuts for lower and middle income families would provide more effective at stimulus in the aftermath of the Great Recession.  In particular, the Obama administration has pursued reductions in the payroll tax (the tax that funds Social Security and part of Medicare).  This tax is imposed at a flat rate on all wages up to a annual cap (the cap is about $107,000 for 2010).  Cuts in this tax rate tend to be more broadly distributed than cuts to income tax rates because the income taxes are skewed much more toward wealthy people.

· These tax cuts expired with the fiscal cliff deal in early 2013

· This perspective also helps explain why some people believe that allowing the Bush tax cuts to expire for high income people  would not have a very large effect on equilibrium output. 

·  To see this result formally, look again at this equation:

ΔY = [ 1 / (1-MPCAVG) ] [(MPCR)*(-ΔTR) + (MPCO)*(-ΔTO)]

Suppose that the elimination of the high-income Bush tax cuts implies a positive value of ΔTR and the value of MPCR is fairly small.  Then, the negative effect on ΔY will be relatively small.

· But as long as MPCR is not zero, even an increase in taxes on well-to-do people will still reduce output.

4.  Restraining a demand-led boom with fiscal policy: inflation concerns
· Restraining inflation is necessary when there is a situation of excess demand.
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· It is desirable to stimulate the economy to point B.  Beyond Y*, however, further increases in AD will not be met by higher output because the economy has reached its potential capacity.  

· Policy must be used carefully not to stimulate AD so much that we get to point C.  Point C is bad because it leads to inflation.  Whenever AD > Y*, inflation will likely occur, because if demand exceeds what firms can produce, they will likely raise prices.

· Fiscal Policy to fight inflation?

· If inflation is a concern in the economy, we could use fiscal policy to help curb inflation.  Either decreasing G or increasing T could shift the AD curve down, hopefully to point B.  However, in practice, it is usually monetary policy (raising interest rates) that is used to slow down inflation.  

· In the late 1960s when the economy was very strong and inflation began to rise, a temporary “surtax” was imposed on income taxes.  The explicit objective of this tax increase was to reduce inflationary pressure.

5.  Choice of spending policy versus tax policy to reach fiscal goals

· If we are at point A in the graph above, would the better fiscal policy be to lower taxes or to increase government spending?  We saw that algebraically, increasing G has a larger effect.  However, there are other factors that policymakers consider in choosing the particular structure of economic stimulus plans.  
a)  Conservative criticism of Keynesian fiscal policy as leading to big government: 

· Keynesian macroeconomics is often considered politically liberal.  It is interventionist in nature: if the economy is not at potential output, then the government can intervene in an attempt to bring unemployed resources into use.
· If we use the current U.S. economic situation as an example, the government could stimulate the economy by increasing its spending.  But, you can’t increase government spending without increasing the power of the government.  Conservatives often argue that increased government spending would lead to the implementation of programs that will not be eliminated once we return to potential output.  
b)  A “conservative Keynesian policy:” use tax cuts and spending cuts

· If Keynesianism is considered politically liberal, then why did George W. Bush pursued tax cuts so aggressively using Keynesian stimulus as a rationale? 

· Keynesian stimulus through tax cuts rather than increased government spending do not lead to a large government.  

· Conservative Keynesianism can be characterized by the following policies:  If you are at point A and want to stimulate the economy, do so by cutting taxes.  If you are at point C and want to slow down the economy, do so by decreasing government spending (though remember that monetary policy, not fiscal policy, is typically used for controlling inflation).

· The Keynesian feature of this policy mix goes beyond the typical conservative approach by emphasizing timing.  The Keynesian approach implies that tax cuts should be made at the right time, when the economy is in a recession, or at least operating below Y*.  If spending cuts are made, they should occur in an otherwise strong macro environment.
· The latter point is particularly relevant to fiscal debates in early 2011.  Many conservatives argue that U.S. federal government spending is too large in the long term.  These arguments often rely on two basic premises.  First, government is consuming too many resources and the overall welfare of society would be better served by reallocating resources away from public uses to private uses.   Second, the U.S. does not have adequate tax revenues to support the current level of government spending (including promised “entitlements” like Social Security and Medicare in the future).  The result is large, undesirable government deficits.

· Many moderate economists and politicians agree with some aspects of these arguments.  But they also accept the basic Keynesian idea that lower government spending will reduce demand, weaken the economy, and increase unemployment.  From this perspective, even if cuts in government spending are necessary in the long run, it is a bad time to make such cuts when the economy suffers from a very high level of unemployed resources, like the situation in the aftermath of the Great Recession.

· This argument extends to tax policy.  A widely held argument among moderates, and even liberals, is that the country needs a strong social safety net, but should not pay for it by running deficits.  People with this view often argue that taxes need to rise to cover the rising cost of the social safety net, especially health care costs that are affected by the aging of the baby boom, longer life spans, and the rising relative price of medical care.  But, again, the time to raise taxes may not be when the economy suffers from so many slack resources.  It may be better to tolerate large deficits until a robust recovery eliminates unemployment.
6.  Practical challenges of managing fiscal policy

· Our discussion of fiscal policy makes it seem pretty easy.  We see points A and B on the graph above, know the concept of the multiplier, etc.  It seems like getting out of a recession is a pretty simple task.  However, there are many reasons why using fiscal policy to get to Y* can be difficult.
a) Time lags and Forecasting Problems:  

· It is difficult to know how long it will take to get from point A to point B.  

· It takes some time to recognize that the economy is in recession, or even below potential output.  Economic data are produced with a lag and the figures bounce around from month to month, even quarter to quarter.

· Once a problem of output below potential (or unemployment) is identified, it takes a long time for the political process to agree on a fiscal stimulus plan.  Should spending rise or taxes be cut?  If taxes are to be cut, which ones should be cut?  Obviously, there will be a lot of political problems associated with these policies that will take time to work out, especially in a highly partisan political environment.

b) Uncertainty about the Size of the Multiplier:  

· Economists do not know the exact value of the MPC or the exact value of the ACC.  Keynesians have significantly different estimates of the multiplier.  Without knowing the value of the multiplier, policymakers do not know the necessary size of a tax cut or increases in G.

c) Uncertainty about the level of potential output:  

· When deciding on the size of a tax cut or an increase in government spending, it is necessary to know the target level of production.  However, knowing Y* is difficult because it could be constantly changing due to new technologies. 
d) Concerns that stimulative policy will be inflationary:  

· If policy makers overshoot Y*, it will lead to inflation.  Knowing the exact level of stimulus that will get the economy to Y* but will not be inflationary is a challenge task.
